> restart
> EcuaDif = x-diff (y(x), x) =sqrt(x--2 —p(x)--2) +y(x)

EcuaDif:= x( ) \/7"‘)’

SG = dsolve( EcuaDif)

SG = —arctan[ J—l—ln — CI=0
x —y( x)2
EcuaSus = simplify(isolate(expand(subs(y(x) =x-u(x), EcuaDif) ), diff (u(x), x))
2
EcuaSus = \/ 12—|-u x) )
X

sqrt(l —u(x)--2)
X

EcuaSus = diff (u(x),x) =

(x) =

d
EcuaSus .= — -—
cuaSus u .

. 1 B 1
SGS = mt( sqrt(l—u-2)° ) znt( ) +C
SGS :=arcsin(u) =In(x) +C

SGFinal = isolate(subs(u = %, SGS) , y(x) )
SGFinal .= y(x) =sin(In(x) + C) x

> restart

> ED:= 2xy(x)-2—=3-p(x)--3) +(7—3-xy(x ) -diff (y =0

ED:=2xy(x)2—3y(x) +(7—3xy(x) ) (%y(x))=0

> with(DEtools) :
> intfactor(ED)
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